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OPTION -A
Paper : CSC-HG-3016
‘ ( Progra’mining in python)
1. :

" (@) What is Tuple ?
@) - What is the output of type (3)?
- (J IDLE stands for _____.

(d) ROC stands for

(e} Which character is used in Python to
make a .sin‘gle line comment ?

() Each step of an algorithm is unique
and should be self explanatory.

(State True or False)

~ (9) Python is a case-sensitive language
(State True or False)

2.‘ Define the following termsg - 2x4=8
(a) Debugging

(b)«z-Doculﬁentation '

(c) Recursive function

(d) Head function

3 (Bem-3/CBCS) CSC/ICA/T (HojROy/ G o

Answer the following questions : 1x7=7"

3.

Answer any three of the following :

(a)

(b)

(@

@)

(e)

5x3=15

What is Python interpreter ? Whet is
the difference between intermediate
mode and script mode ? o

What are the differences between string
and list?

Briefly explain multiple assignments in
Python with suitable example.

What are the differences between flow
chart and algorithm ? :

Explain exception handling in brief.

Answer any three of the following :

10x3=30

(a) Write short notes on the following :

(c)

(i Bitwise operator
(i) Top-Down Approach

' (b) Briefly explain any five built in function

that are used in Lists. Give example.

What do you mean by Python IDE?
Explain in detail.

3 (Sen-3/CBCS) CSC/ICA/TR (HG/RQ/G 3 o Contd.



(d) Write a program to create stack class | OPTION'?B.
and implement all the methods. Paper : CSC—HG—3026

e) Write
(e) a program to read a number and ( Computer Network and Internet Technologies )

~ check whether pnme or not.
o Write a program to check whether a Answer either in English or in Assamese.

| ‘ . given year is a leap year or not. . 1. Answer the following questions : 1x7=7

| ‘ } : - oere Wl IR Oew fondi ¢ 4

(a) The term HTTP stands for .
(Fill in the blank)

(ena? 273 kihal
(b) Peer-to-Peer is a network topology.
(State True or False)

Peer-to-Peer €3 network topology ¥ |
(8% (1 % S 39)

(c) The maximum length (in byte) of an
IPv4 datagram is

. HTTP %03 e g5

'(Flll in the blank)

<51 IPv4 datagram-¥ Seivs oeh (byte ©)
EC | (AT 312 o7 F)

(d) If the system use separate protocol,
device is used to link two
system. (Fill in the blank)
3 system (@ %j¥F protocol I I
' device 3 WBI system TR IR
IR T (ma? c3 T =)

3 en-3/0BCS) CSO/TCA/TT (GRO) G 4 3 (Sem-3/CBCS) CSCITCA/TI® (HG/R)/G 5 Contd,




(e) Data’ comrnumcatlon systenmi within a .

building or campus is
(Fill in the blank)

B BRI 7 campus T RowTe 9 I
R tici (T 2 97 71

() Write an example of star topology.
Star topology-? «fo W‘T fer?l'll

is the lowest layer of OSI model.
(Fill in the blank)

031 model< WBIRe(F 7 B3 (g

@

(%ﬁér?e(awr)v

2. Write short notes on:

59 B fa 8

(a) Intranet and Extranet

2x4=8

Intranet 9% Extranet
(b) Gateway and Router
Gateway 9% Router

(¢ URL and Web Browscr :
URL % Web Browser

(d) E-commerce

3 [Sem-3/CBCS) CSC/TCAMMT HGRO/G 6

Answer - any three of the following
questions : - 5%3=15

- (@)

(b)

C

(d)

(e)

Write the advantages and disadvantages
of star topology.

Star topology= R4l Ti% SRYPTR o I‘ o
Write the difference between OSI and
TCP/IP reference model. ‘

OSI ®i% TCP/IP reference model—? TS|
‘»’iTQf?FJ W =0

Compare synchronous and asynchronous
data commumcatlon

Synchronous 9% asynchronous Y
CANTAHE JETS Peil T |

Explain IEEE 802:3 LANS. |
IEEE 802-3 LAN-3 R 3t 3

Distinguish between LAN and WAN.
LAN SR WAN-3 &S i< 3 |

3 (Sem-3/CBCS) CSC/ICA/TT HG/RCY/G 7 Contd.



3 Sem-3/CBCS) CSC/tca

. An any '
NSWer any three of the following

Auestions : 10%3=30
X3= /

o Fin el e v v ¢

a )
(@) ﬁxgllf?n TCP/IP reference model. How
ers from OSI reference model? .

E‘)CP/ IP reference model-3 Ragy 3l F11
SI reference model-3 stofe T A 1 ¢

(b) C ‘ .o
) Create HrML, documents with Ordered

~and N
Inten[f;llqrdercd list, Inserting Images:
" and External linking.

qQyq :
mgTML document It T Ordered
Inte nordered. list, Insertings Tmages:
rnal W% External link WRRS 2CF!

(c) Explain |

Wlth Suitable examples

media et 2wy

(d) Write a Ja_v
factoria'l of

Guided =% Unguidcd

aSCript
progr d the
Number n.g' am to fin

N IRYR fact;
Ctori .
Program finy = W &5t JavaScript

WRoe. g

(e) What is data link layer ? Describe error
control and flow control mechanism
used in data link layer.

Data link layer & ? data link layer IJ%%®
error control % flow ‘control |
mechanism= RE@ 391 71 ‘

. () Create a form using HTML which has

following types of control:

HTML © @39 HqRel form IERI TS ©F7S
@RS control Rel® TS 8

(i) Text Box '
(i) Option/Radio Button
. (i) Check Box |
| (iz))_ Reset and Submit Button

3 (%-310303) CSC/TCA/TT HG/RC)/G 9 Contd.




i

Paper :

OPTION - C R
OPERATING éYSTEMS
CSC- 3016/TCA
C HG-3036/CSC~RC—3016/TCA—HG-RC—3016

Answ
er either in English or in Assamese

1.

Answer the followmg questlons

1x7=7

et e Tt o ¢

(a)

- (b)

~ Software,

(c)

(@)

What is operatmg System ?

Operatmg sSystem ﬁ? ?

Ope .
perating System is ap apphcatlon

. (Write True or False)
peratlng system

software. <51 application

(5% & oom )

command ig

| Linux Operating system, .

(Fill in the blank)

T file co :
°Perat1ng systempg W?:fg Linux
_ AR I

What are the two m
Operatmg system 7

o ?

3 (Sem-3/CBOS) CSC/TCA/IT (HG/RY/G 10

used to copy files in

(e -

{9

is called command interpreter in

Linux operating system.
- (Fill in the. blank)

¥ Linux operating. system=3

cbmmand i,nte.rpretgriﬁj;(ﬁi@ |
(AT 12 759 7))

What is the full form of FAT?
FATS = St ol
What is the purpose of ls command ?

Is command-3 Ty & 2

Define the following terms : 2x4=8

wﬁmﬁ@?ﬁam@fmg

(@)
(b)
(¢
@

Process
Head scheduling
Multiprogramming

Shell

3 (Sem- 3/CBCS) CSC/TCA/TTT {HG/RQ/G 11 Contd.




~ -
e —

3.

Answer any three of the following

questions : : o 5x3=15
Wﬁmm«w ﬁmmf@ﬁ:rmwm

(a) |

(b)

(c)

(d) .

(e)

__ ‘Wnte the - syntax- of if statement used
in shell scrlpt with an example.

Shell scnpt kS ?Uﬁi]a (2R if statement=

. Syntax ®WNWM|

Explain briefly the functions of
operating system. |

Operating system-=3 ﬁ‘*ﬂn Renes 5 3l
Eall '

Briefly -explain the state of a pfOcesS’

Process-3 state Reeg 5y 39 3|

What is system cell? Name three
system cells.

%};:tem cell ¥ ¢ o5y system cell-¥ m
|

Write short note on Process hierarchy-

Process hierarchy-g Ry oy Coret el

3 {Sem- 3/CBCS) CSC/TCAfTHT (HG[RC)/G. 12

4. . Answer any three from the followmg
-~ 10x3=30

wore I ﬁmwr f%ﬁb*faw faa
(a) What are the different types of operating
system ? Briefly explam each. '

~ Operating system-¥ ﬁ@i o QT 2
e I awn |

(b) What is a thread ? How does it differs
from a process? Explain the uses of
‘threads. ' '

Thread & ? Process ®i% thread< E®
S @R 2 Thread-3 I3 I 1

() What is paging? Explain the
components of page table entry. When
a page fault occurs ?

Paging f& ? Page table entry-3 ToAmH
G ! 901 Page fault GHo |

(d) Write a shell script to find the sum of
. digits of a givcn number.

B S i R G TR IR € shell
script feral|

3 (Bem-3/CBCS) csc/rcam oRg G 13 Contd.



(e) Wnte a shell script to find the factors j : OPTION-D
of a glven number. |

Sl ICT HARDWARE
ciﬁ':‘i TRYN Te QR WW <o shell - , B L C
script ftl | " Paper : CSC-HG-3046/TIT-RC-3016

() Write shoft notes ori: Answer either in English or in Assamese.

B ORI BREE ] 1. Answer the followmg questlons as directed :

(@) First Come Fir ' , : 1x7=7
St Serv : .
slgorithm e schedullng :: ot Tt emTrd Tew Rofigar B s
| Sh | | . | L .

(b) o ortest Job First" SCheduhng : (@) was usec? in f.irst generation

‘ gorithm , : computers as their main component.
| (Fill in the blank)
oy 7T ITH TS TR

fismw"@%n (T 5% 97 )

(b) Full form of FAT is

i

(Fill in the blank)

FAT-?’L‘fﬁ’I'Q’Ef (. :
» (T I 97 F)

(c) Cache memory is costlier than RAM.
(State True or False)

Cache memory RAM & ek aisicii
(3% & W8T f»?ﬁlf)

3 em-3/0B09 CSOTCHT HORO/G 14 3 fem=3/0B08 CSTCATT BGJRC/G 15 . Contd




(d) Full form of SMPS is

e

3 (Sem-3/CBCS) CSC/TCA/TIT (H(}/kcp/G

- SMPS-3 o % 757

(Fill in the blank)

(71 31T 73 #9)
64 bit processor can carry __ the
amount of data than 32 bit processor.

- (Fill in the blank)

32 B processor vt 64 [ processor-4

———— 0! RER FRY siieq | ,
R (A1 3% 93 79)
gl;iscisi ?the latest version of Internet
() 1IPva
i) 1Pve
(i) TCp
(iv) DHCp ‘
(Choose the correq option)
Internet Protocolg 0‘1‘2@@ AW F 2
()  IPvq )
(i) IPve
(@) TCp
(iv) DHcp
(5% Sewy figw 79

16

(@@ USB stands for . '
(Fill in the blank)

USBIW . (31 312 99 7))

2. Write short notes on : 2x4=8

X

{a) Functions of BIOS
BIOS= functions [T

(b) Difference between CD and DVD

- CD W% DVD-¥ AEFRE

(c) Classification of cdmputers
Computer¥ fexq Cﬂw

(d) Different kinds of RAM

RAM- Rfeq ez
3. . Answer any three questions: . 5x3=15
Ricict {3t e Tes forat ¢
(a) Discuss briefly the new trends in HDD.
HDD @ AIRPTRe Racx st wiicstioat 1|

(b) What is computer virus ? Write a short
note on antivirus software. '

FfATo wizar & ? Antivirus softwareS
eT® @f6 5y Bt vt
3 (Sem-3/CBCS) CSC/TCA/ MY HeRO/G 17 T+ Contd.




(c) "Explain aboﬁt
of optical medig drives

wﬁmﬁﬁmwmm

ﬁmwwl .

(d) Write briefly ab, |
L€ brietly about diff, '
of modern Computerserent components

e puters.
- M«%WWWW

(?) Write a short note.on SMPS
Y CBIRT fopay
, |

» . c ) 4

(@) Explain i
. In brief dj '
of computers, dlfferen.t generations

Computer.q - : _
S R gy
. (b)) What is file | |

/ S
different types yStem ? What are the

o
! fle sy stem ? Discuss.

File system &

3 (Sem-3/CBCS) CSC/TCHT HOR/G. 18

preventive maintenance

" Explain about

[NR file system

. 3 (Sem-3/CBCS) CSC/TCA/MT (HGRC/G 19

What are the different types of sockets
and slots found- in motherboard ?

| Explain each.

Motherboard © oo Rfew ‘socket &% -
slot 3% & & 2 eireece! JrYT = ’

Intel processor family.

What is the latest trends in processor ?.

| Intél processdr sfRaE T B =4

Proce_ssér—? crzsa wirTE 15K

What is Network Interface Card?
Discuss network cabling -used in

cémputer petwork. .
Network Interface Card & ? Computer
network © I9Z© (A network cable T
R el |

Write short notes on: .

() 1P address

© (i) Virtual memory

vy (ort ot e
(i) IP address
() SRREE GER

2500 -



